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‘:"I';:E;n_t the guestions 01 to 60, pick correct or most appropriate anywer

1. The chemucal fommla given above represents the basic @-ﬁ"”hif h one of the above graphs shows the rely,
e bRk Ep

tiuent unit of
pstiu L'l:nnt-tuflngmmmﬂm
and pubszrare

[t
conceniration?

1 bupecls
1) proteins WH, (A (2B
-Ll._]j:-tuﬂtll. adds it —  — (M o7 WI:.-;h (nc “:' &} I51E
4} cellulose -Which onc of the following statemeny
{5} starch H —hiod iversity is correct? regardeny
(1) The three major drvisions of bsediverssty are o
£l

diversity, genetic diversity and habitat divenaity

ﬂ_m-,,du of the following is considered as the basic unit of
(2) Species diwversity s the diversity among the

lafe
;':;l“] Atom organisms within a species
(2} Ami acids (3] Because of the increasing congern on beodiverty,
(3) DNA all species that live on carth are most (ely 10 b-r
1) Proteins slendified within the next 10 years
i5) Cell {4} The most number of animal species identrhed wo far
i ound bn the chl - | belong to the phylum Mollusca
Egﬂjhrmmﬂ ound jn | gch ur':lphusln a plant ce (%) @ertu; diversity contributes to the development of
{1) are of the same fize and composition to those seen insecticide resistant varieties armong msecl peats
=1 bactena
(2] arc Larger than those seen in bacteria but similar in g.::"hullb one of the following  coRTe fly represents
_ : he geientific name of man sccording to bnemial
composition nomenclature?
{3 are smalled than those scen in bacteria and (1) Homao Sepians
differeret in composition (1) Moo sapiens sdpens
(4} are of the same size gi those seen i bacteria bt {3} Homo sapicos

different in compuosition (4) Homo sapiens
{5) are similar in size and composition to those found (5) Homo sepians
i the cytoplasm of that eucaryatic cell 09. The last mass extinction on carth cesalted In the

8L The source of axygen which ucts as the terminal - putipction of

cwlectron acceptor (i the electron transpodt chain of (1] ammonites {21 trilobites
wcTobec Of gan isms 15 (3) primitive bony fishes {4) dinosaurs. I'
[ L} water 12) glucose {3) acetyl Co-A [5) mammoths
(4) molecular oxygen. (5) pyruvic acid 10. Which one of the following is an -t method of
* The questions 05 and 06 are based on the following — conservation?
(1) Establishment of sanctusries

CRpaphs (A - E), which show the rate of enzyme reaction
Ivertical axps) plotted against an unlabelled factor {2} Establishment of turtle hatcherics
Aarizorital sia). (1) Establishment of cephant orphanagss

(4) Establishment of seed banks.

{5) Establishment of botamcal gardens
11, Which one of the following IUCN categones includes
= {he organisms that are most fikely to become extmct
fiest?
* : - (1) Low risk category
(2) Vulnerable category
[3) Rare category
(4) Conservation dependent category
= ; {5} Data deficient category
o3 ) E lWIuEhnntufﬂ:rqu-'mElu-ﬂ:urﬂﬂﬂﬁﬂrﬂ"
' - HEtin peptial in @ newrons’
benech ane of the sbave graphs showa the relationship (1) duction of detiof POEE ) Thceshold stimules
(g "™ of an ensyme reaction. and phit (3 Extracellular fluid  (4) Myelin sbeath
e Mo 4) D (SIE {5) Na* and K’
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§]  G.C.E(ADV.LEVEL) BIOLOGY- 2003

'EE first group of animals 1o develop photoreceplors
during evolution is
(1) coclenterafes.
(3) annclids.
i5) molluscs
Which one of the following is onlikely to cause

hypertension
(1) High level of low density lipoproteins in blood

(2) Heavy consumption of alcohol
{3) Sleep disturbances

i4) Mental relaxation

{5) Ageing

Which one of the following statements regarding the
sdult human skull is incorrect?

(1) 1t is made up of 22 bones

(2) It has a capacity of around 2 litres

(3} It protects the middle ear.

(4) Foramen magnum is located at its base

{5) Mandible articulates with the cranium

Which one of the following statements regarding the

digestive enzymes of man is incorrect?

(1) Amylase converts starch into maltose

(2) Lipase converts fats into fatty aclds and glycerol

(3} Pepmin converts proteins imo amino acids

(4) Lacvase converts lactose into glucose and galactose

(5) Chy motrypsin converts proteins into prpln;lﬂ ane
amaine acnds

Which one of the following animals has a closed blood
circulatory system with a single circulation?

(1) Cockroach  (2) Earth worm (3) Starfish

(4) Man {5) Filaria worm

Questions LB and 19 are based on the table given below
in the first Column of the table, three parts of the inner
ear of man are given. The major functions of these
parts are given in the second column and the locations
o these parts in the inner ear are given in the third
solumn.

(2) flal worms

(4) arthropods.

Past of the Location in the
wner Ear M:m' function WnTer E.a:r
o utriche P- Involved X- semulcircular
i hﬂring canals
- Ampullae (} - Involved in the T- Vesubule
detection ol the
mavement of head
-Organ of Corti | R - Involved in the Z - Cochlea
fraifitenance of
pasition of head

he correct sequence of the major functions of the
arts A, Band C s

1 EQR (2) Q.R.Y
4) RQP (5) ER.Q

he correct sequence of the locations of the A, B
nd C in the inner ear is e

(3R PQ

XY Z (2) X.Z,Y. (MYZX
4 ZXY (5) X, Z
DONAL/Bio
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20. In man. & thoracic vertebra can be d"“'"wm
olher vertebrae due to L
(1} its large siee
(2) the presence of vertebranerial canals
{3) the presence of a bifurcated neural spine
{4) the absence of an odontoid process
{5) the presence of articulalory surfacey

R
centrum e

1. Which one of the following statements i incarre,
regarding regulation of respiration in man? '
(1) Lowered blood pH increases TESPIESlOry rang
(2 Stumulation of stretch receplons i fun
iASPiration 10 stop

(3) Respiritory centre is located
and hypothalaibus

(4) Chemoreceptors involved in regulation are
i carofid arteries

(5) Both glossopharyngeal and vagus nerpe .
inviolved in the regulation of respiration

= T

' the pons Vipy,

bacane

22. Which one of the tollowing factors can be O dersy
as least important in the vertical transpart of wy,
through the xylem in a tall tree? '
(1) Cohesive force (2) Transpiration pull
(M) Adhesive force (4) H'mrrpmnmu[mﬂ
15] Kot pressure

23, Which one of the following element when slbsens w|
produce dehciency symptoms first in the matare s
of the plamt?

(nNkK {(2) Mg (3) 5 4} Cu

24. A major funchion of K wn a plant is seen in
(1} stormatal movement
{2} chlorophyll synthesis
(3) cell division
(4) electron transport chain
(5) synthesis of vitamins

25. Which one of the following represents the first satis
product of C - 4 photosynthesis
(1) Phosphoglyceric acid
(2) Oxaloacetare
(3) Malic acid
(4) Phosphoenol pyruvate
(5) Glycolate

26. Which one of the following is seen only inanglesr
(1) Development of an embryvo in the life cycle
(2} Presence of seeds
(3) Presence  of  heteramorphic
generation in the life cycle )
(4) Presence of double fertilization in the H"’-’iﬂ,
(5) Presence of xylem and phloem in the

e

27.In which one of the following structures 06

take place?

{1} Sporangium of Mucor

(2) Basidium of Agaricus.

(3) Autheridium of Pogonaturn.

(4) Microspare of Selaginella

(5) Pollen wbe of angiosperms.

(51N
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] Questions 18 and 29 are baved on the following chart of
p the life « yule of a heterosporous vascalar plant

= T
o '__‘ﬂ.‘_
~ 1B Mg [ BT g
(T - i b
W Eagamger Lﬂu.n—pn
|ﬂ¢|"&mhlllﬂ-|'l- (00 Blalr prtesipn iy
I
) Eypoie ) mr.L-m
H'-"‘T-.“_—- . i _H_,..""
- -
T -

I8 Which of the flollowing plants show lfe cycles
reprevenied by the above chart?
(1) Nephralepis and Pagandtum
(2} Selagimella and Nephrolopu
(3 Angeosperms and Cras
()} Nephralepli and anglosperme
(5) Sefaginella and Pogoriatus

9. The haplesd genrranon m the above life cycle »
reprevented by slages
(kA Band C (2} B, C and [
{4) [0, Eand F [S)E Fand A

30. A dixgram ol a Cross-iection of a rod endicating the
three majoi pathwaya LA, B C) of horizontal wates
transpiir! scross the oot in shown here Which ol ihe
following represents the apoplast pathway, sympias
|_'||I:|'||u'.' ol vacueear
pathway in correct wriler?
(i A B O

(3 Dad E

4
i

.

[2) A.C. B T
(M B A i R, e

4 B A o w:_:,:&‘
{51 CLEA s o

o Questions 31 and 32 are based on the data given below
Tall toemats plants having red fruts wete crossed with
short semuato plants having orange fruats. All plants in
F generation were tall with red fruits When ¥ plants
were ¢ russed with each other the following phenotypic
ratia way obtaned in the F, generation.

Tll plarss having red lnaits  Shoet plancs having arange [yuuiti
i |

N.Which one of the following statements 3 correcd

regardmg the above observations?
() The tall parent plants with ced fruts are

(2) Botk rypes of .pun'nh are heterorygous
i nt assartment is shown by both characters

HiinF_generation, 50% are helerazygous
15)The ¥, plants are heterozygous for one character

LH e shove F, plents are crossed with short plants
vrarge frusts, the percentage of short plants

otange fruits in the resulting progeay would be

(2] 66 W 13) 50%

(5) 25%

L

G.CEADV. Lyvgy, 5
3. Which one of

“J"-uﬂ‘i'- 26
the 3
Frl'*ﬂ.']'l‘]-l.‘lﬁ o D;:E'_-_h:;_-_‘—‘—-—____h‘_m

MOt e gy
L) Adenosipe triphagpkg faia
[2) m-RNA '

3] Endonucless
(4) DNA

(5} Ligase

Adverie mpacts on (he
aclivities staried wik
!I]-llu-qﬂpu of man
{2} industrealization.
|} urbanization
14) hunier - gatherer Life ybe
(5) agricubure and snimal hasbandry

In which ane of the foljow
feld ecosysten, the inerspecific cq

ikely to b reduced on the applicain op
(1} Primuary prodocer level

{2} Primary consumer hevel

{3} Secondary consumer leve|

fd) Tertiary conswmer level

EAVITN e dug 1g —

15, Ing trophu bevets of w paddy

Tk gl
oy

{3} Decomporier lovel
H.SLI'II:lrndt‘ll'I! Iﬂl!"l'l.“llJ'F'I'lH'-l'l il beir defiared gy
(1) mecting  the  present  div neelds  wiboge
commpromusing the ability of future gererarpgs
aseed their own Aeeds

(2} the development whach promoces eyl Lstnzusies
of herefit of the tae of nutural resownees [

(3 the  development  schpeoed
envaronmental pollution.

{4) achwvimg 3 good standurd of horg
Frp L armsoud of fesurTes

{5) the development achirsed wath s mummmim i of

blodiversity

37, It in believed that the mapos reason foe the dicrese |n
ihe carbon dioxide concentration in the amosphete
during the Lael two cemtunes o
(1) the icredse in human populstion
i2) the ncredse in agriculiural crop produscmity

{3} the decrease in plant Cover
{4} the increase in fodsd fuel consumplon

{5} the increase in enimal hustandry schivitie

rm was detected in water sumples colleced
]lﬂﬁmﬂmlw Thas water 1§ et biely 1o b
contaminated with
(1) agrochemicals
(2} leather factory effluents
(3] domestic sewage
(4) paper factory efflucnts

witle liiumum

il s

(5} oil
contatns
 Which one of the followiny geners of bacters
“ mmimwﬂdr' used for the industrial production of
glutamic acid? P .
{1} Corpriebacteriiinm (2) Pocidomind
[3) Escherichia (4) Acetobacter
(§) Clostridun
B/ AL200M0S
& m
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: hromycin destroys bacteria
antibrotic eryt
°* :T}rmhuhlm,g the cell wall synthesls,
i2) inhibiting protein symt hesis

DA replication
{3) inhabiting
{4} inhibiting syntheais of cell membrane

(8} causing leakages in cell membrane

L. Which ene of the following chemical conversions in the
mitrogen <ycle w effected by Nitrobacter?
(1) NO - NO
(2) NH - NO,
{3) NO - NH,
(4] NO - N,
(5} N,— NH',/ NH,

42. Which one of the following genera comains

43,

migcroorganisms that will ot grow in the presence of
molecular oorygen?
(1) Saccharompces
(3} Clostradism
{5} Acctobacter

{2) Rhizobiwm
(4) Peewdormonas

Agar 1 added to microbiological culture media

(1} 1o provide nutrients

(2} 10 obtain colonies of microorganisms

(3) to prevent the growth of unwanted microorganisms
4} to grow fung

(5) to Limit the growth of microorganisms

- Which one of the following groups of diseases is caused
only by bacteria?

(1} Tetanus, measles, tuberculosis

(2) Tetanus, ryphoid, tuberculosis

(3) Typhoid, chicken pox, syphilis

(4} Tetanus, pneumonia. measles

{5) Tuberculosis. pneumonia, meashes

+A carangid could be easly distinguished from a grey
miullet due to the presence of
(1) two dorsal fins.
(2} terminal mouth,
(3) forked 1l fin
(4} spanous anal fin
(5} thickened lateral scales

46. Which anc of the following stalements is incorrect

042003/ A Lrgjy

regarding aquaculture in Sri Lanka ?

(1) Oreachromis niloticus produced from extensive
dquaculure  contributes to fresh water fish
production.

(2) In the recent past, virus infections have caused
severe damage to prawn aquaculture.

(3) Aquaculture industry still does nol have the

n
¢ lood u not yet

(5) There is tial
o hlgrhumL .I to culture Indian carps in

47,

48,

49,

51

Which one of the F'.r“l_l'wm“ ;::;"'—-..._‘_‘_‘_‘_
: L4

teanEmission of parasitey o 2y N

(n lrmumu-unlu | I:t:;:::m"
post Cyst stage

(2} Plasmodiir wivy
cullcifacies Y g by Anegs,

(3] Peab transmission o Winche s -
place between 6,00 P.m. and It.u;-: B gy,

(4) Skin piercing is exvential for 1y, pom
AT ICA IS, i of e

(5] Ascariy leirmbric o de; £ |
taecal contaminuted

H! i
hl""""‘”h’.} i

il
Ik .

LIRS

f be 1r|.|:|;mn,.’d oy
VeRetalie, iy

Which one of the Tallop
regarding organophosphate
(1) They are fat soluble

(2) They inactivate cholinestergye

{]J Thl:'!u' Are nol WETY lomic bes MAmkma)
(4} They act on neurilemma

(5} The are '.tELI.EJ'}' PETE|

rr! ‘!IH-.I“EM' i
INSEL i gl

Ein

Went if the -
Blight diseases in paddy are caused by

(1) Rhizoctonia specics only
(2) Xanthomonas species anly.
(3} Rhizoctonia and Xanthomg
{4) a nematode

(5) brown hopper

F'I.I]-'I]Jl:l!l

- The standard deviations of the wample cbeined i,

two populations are 10 and 7.4, LF thhe sie of buct ware
15 10, the standerd error or these data s TP
(1) 1.78 (2) 1.78 (3017

(4) 4 (5) 178

For each of quastion 51 to 60 one or mor o o
responses is/are Correct. Decide which of the sesposs
responses islare correct and then sebect the =
number.

If only A, B and D are correct
If only A, C and D are correct
If only A and B are correct

If only C and D are correct

If any other response or combinatios of FOE=S

correct S

Directions Summarised

| 2 ) - ‘—-""d_
ABD[ACD|AD [CD =0
cofrect | correct | correct | carmed I:::nns' .
—

g =
Which of the following compouss !

during light reactions ﬂ'ﬂ;“;?‘,iﬂﬁ
(A) Oxygen ATP
(C) NADH, i

(E) Starch

™
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51 Whic

m{d unle
organisms present in the ingested food?

jA) Sniraaeelle typhi
IR peila

() StaphyiocUccus AURCES
[[r) Vabrie chenlerna

[] 34 foadriidinim botaaliFpim
53 Animals belonging to Class Chondricthyes
[A] have pla< oed scales

(B] have Ao pperculum
(C} possess tuil fins with two similar lobes

{1 have skeletons made up of bone
fresh water and marine habitats

(E) live both o
g Which of the following statements isf wre correc
regarding 2 skeletal muscle hbre?
le actvity s contrelled by the

[ A0 Iy contractl
AuUbRDNC NErVOus syslem,

(B} It never hecomes fangue

() It is unbranched

([} B contans MANy $ATCOMEncs

(E 1t o ummucleate.

8 Whech of the following statements regarding vitamin E
iWdre orTect”
|A) 11 sids in cellubar resplration
B} B is found i green vegetables
[C) 1 5 water soluble
(D)1t is required for the producton of co-enzyme A
(E} Its deficiency causes nught blindness

 Which of the following stalements isfare correct
regarding human nephron?
(A1l w wevolved in the regulation of blood glucose
bevel
Bi0blgatory resorption of water occurs in the
proximal convoluted rubule

4 of the following bacteria is/are invalved in
ctions caused by the growth and activity of

(€} Active resorption of octury

‘rql.a

oop of Henle, ¥ the descending

(D} Resorption of (" oceury
tubule

{E) ADH acts on the ascendung limp nl'lnnp ol He
3 nile

57. Whach of the following fe
Bryophytes? § TrHuTes cannot be seen 1
(A} Heteromorphic alternati
(B) Independent sporopbyte &0
(C) Flagellated reproductive structipes
(D) Heterospory
(E) Reproductive structuces with stenle cells

58 Evolution of which of the follow
man different from all other ;.mr;:ﬁ: el made the
(A) Bipedalism
(B) Stereoscopic vision
(C) Speech
{IM Conceptuul thought
{E) large brain

i the p“n“'lilrwultd

59. Which of the following processes decrease/decreases
the amount of mitrogen in an agricultural soul?
{A) Leaching
{B) Nitrification
(C) Denitrification

(D) Absorption by plants
(E) Remaoval of the harverst

60. Which of the following major twochemsal changes
effected by microorganisms i/are wvoived in the
procluction of vinegar from coconut sap (sweet toddy)!
[{A)} Conversion of sucrose 1o glugose by yeast
(B} Conversion of starch (o glucose by yeast
(C) Conversion of glucose to ethanol by fermentation

by yeast
(D) Oadation of ethanol to acetic acid by Acetobagter
(E} Conversion of sucrose to lictic acid by lactic sad [,

bacteria

Bio/AL2DINOS




